

Eulerian Numbers and Polynomials

L. Carlitz

Mathematics Magazine, Vol. 32, No. 5 (May - Jun., 1959), 247-260.

Stable URL:

http://links.jstor.org/sici?sici=0025-570X%28195905%2F06%2932%3A5%3C247%3AENAP%3E2.0.CO%3B2-2

Mathematics Magazine is currently published by Mathematical Association of America.

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at http://www.jstor.org/about/terms.html. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at http://www.jstor.org/journals/maa.html.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is an independent not-for-profit organization dedicated to creating and preserving a digital archive of scholarly journals. For more information regarding JSTOR, please contact support@jstor.org.

EULERIAN NUMBERS AND POLYNOMIALS

L. Carlitz

1. Introduction. Following Euler [6, pp. 487-491], we may put

(1.1)
$$\frac{1-\lambda}{e^x-\lambda} = \sum_{n=0}^{\infty} H_n \frac{x^n}{n!} \qquad (\lambda \neq 1),$$

where $H_n = H_n[\lambda]$ is a rational function of λ ; indeed

$$(1.2) R_n = R_n[\lambda] = (\lambda - 1)^n H_n[\lambda]$$

is a polynomial in λ of degree n-1 with integral coefficients. If we put

(1.3)
$$R_{n} = \sum_{s=1}^{n} A_{ns} \lambda^{s-1} \qquad (n \ge 1),$$

then the first few values of A_{ns} are given by the following table, where n denotes the row and s the column;

Alternatively, Worpitzky [15] showed that the A_{ns} may be defined by means of

(1.5)
$$x^{n} = \sum_{s=1}^{n} A_{ns} \begin{pmatrix} x+s-1 \\ n \end{pmatrix}.$$

The rational functions H_n were studied in great detail by Frobenius [7], who was particularly interested in their relationship to the Bernoulli numbers. More recently Vandiver [14] has also made use of this relationship to obtain new properties of the Bernoulli numbers. Other recent occurrences are [1], [2], [12]; generalizations occur in [4], [5], [13]. In view

of the long history of H_n and A_{ns} it is rather curious that, on the whole, these quantities are not very well known. Indeed an examination of Mathematical Reviews for the past ten years will indicate that they have been frequently rediscovered. Actually there is no detailed discussion of H_n in any book. On the other hand, Riordan, in his recent book [11], does develop a few basic properties and indicates the connection of A_{ns} with certain combinational problems.

The present paper is mainly expository. We include numerous properties of \boldsymbol{H}_n and the related polynomial

(1.6)
$$H_n(u \mid \lambda) = \sum_{r=0}^{n} \binom{n}{r} H_r u^{n-r},$$

indicate the connection with Bernoulli numbers and polynomials and finally obtain some arithmetic properties of H_n . For the combinatorial applications the reader is referred to Riordan's book [11]. The H_n also occur in certain criteria for Fermat's last theorem; this is discussed at length in Bachmann's book [3] and will not be considered in the present paper.

2. The defining relation (1.1) is evidently equivalent to

(2.1)
$$(H+1)^n = \lambda H_n (n>0), H_0=1,$$

where after expansion of the left member, H^n is replaced by H_n ; we shall use this convention frequently. If f(z) is an arbitrary polynomial in z, (2.1) implies

(2.2)
$$f(H+1) = \lambda f(H) + (1-\lambda)f(0).$$

In particular, for $f(z) = {\binom{z}{m}}$, we get

which implies

(2.4)
$$(\lambda - 1) \binom{H}{m} = \binom{H}{m-1} \qquad (m \ge 1).$$

Repeated application of (2.3) gives

$$(\lambda-1)^r({\atop m})=({\atop m-r})\qquad (m\geq r);$$

in particular we have

(2.5)
$$(\lambda -1)^m {H \choose m} = 1.$$

It also follows from (2.2) and (2.3) that

in particular by (2.5)

(2.7)
$$(\frac{H+m}{m}) = \frac{\lambda^m}{(1-\lambda)^m}.$$

Again, if f(z) is an arbitrary polynomial of degree n, we recall that

$$f(z) = \sum_{r=0}^{n} {\binom{z}{r}} \Delta^{r} f(0),$$

where

$$\Delta f(z) = f(z+1) - f(z), \quad \Delta^r f(z) = \Delta^{r-1} f(z+1) - \Delta^{r-1} f(z).$$

Using (2.5) we get

(2.8)
$$f(H) = \sum_{r=0}^{n} (\lambda - 1)^{-r} \Delta^{r} f(0).$$

Since

$$\Delta^{r} f(0) = \sum_{s=0}^{r} (-1)^{r-s} \binom{r}{s} f(s),$$

we may write

(2.9)
$$f(H) = \sum_{r=0}^{n} (\lambda - 1)^{-r} \sum_{s=0}^{r} (-1)^{r-s} {r \choose s} f(s).$$

It is perhaps of interest to mention that (2.9) can also be obtained as follows from (1.1). For |x| sufficiently small we have

$$\frac{1-\lambda}{e^{x}-\lambda} = \left(1 - \frac{e^{x}-1}{\lambda-1}\right)^{-1} = \sum_{r=0}^{\infty} (\lambda-1)^{-r} (e^{x}-1)^{r}$$
$$= \sum_{n=0}^{\infty} \frac{x^{n}}{n!} \sum_{r=0}^{n} (\lambda-1)^{-r} \sum_{s=0}^{r} (-1)^{r-s} {r \choose s} s^{n},$$

so that

(2.10)
$$H_n = \sum_{r=0}^{n} (\lambda - 1)^{-r} \sum_{s=0}^{r} (-1)^{r-s} {r \choose s} s^n$$

and (2.9) follows at once.

Returning again to (1.1) it is easily verified that

(2.11)
$$R_{n}[\lambda] = \lambda^{n-1}R_{n}[\lambda^{-1}];$$

also differentiation yields

$$(2.12) R_{n+1} = (n+1)\lambda R_n + (1-\lambda)\frac{d}{d\lambda}(\lambda R_n),$$

where R_n is defined by (1.2). From (2.11) and (2.12) we immediately obtain

$$(2.13) A_{ns} = A_{n,n-s+1}$$

and

(2.14)
$$A_{n+1,s} = sA_{n,s-1} + (n-s+2)A_{ns}.$$

By means of (2.14) one can easily extend the table (1.4). A convenient check is furnished by the formula

$$R_n[1] = \sum_{s=1}^n A_{ns} = n!$$
 $(n \ge 1)$.

We also note that $R_{2n}[-1] = 0$ for $n \ge 1$.

Frobenius remarks that it follows from (2.12) that the n-1 roots of $R_n[\lambda]=0$ are real, negative and distinct; also for each root λ_0 the reciprocal λ_0 is also a root. Moreover the roots of $R_{n+1}[\lambda]=0$ are separated by the roots of $R_n[\lambda]=0$. In the next place, by (2.10)

$$R_n = \sum_{r=0}^{n} (\lambda - 1)^{n-r} \sum_{j=0}^{r} (-1)^{r-j} \binom{r}{j} j^n$$

$$= \sum_{r=0}^{n} \sum_{s=0}^{n-r} (-1)^{n-r-s} \binom{n-r}{s} \lambda^{s} \sum_{j=0}^{r} (-1)^{r-j} \binom{r}{j} j^{n}$$

$$= \sum_{s=0}^{n} \lambda^{s} \sum_{j=0}^{n-s} (-1)^{n-s-j} j^{n} \sum_{r=j}^{n-s} {n-r \choose s} {r \choose j}$$

$$= \sum_{s=0}^{n} \lambda^{s} \sum_{j=0}^{n-s} (-1)^{n-s-j} {n+1 \choose s+j+1} j^{n}.$$

Hence, by (1.3) and (2.13), we get

(2.15)
$$A_{ns} = \sum_{j=0}^{s} (-1)^{j} \binom{n+1}{j} (s-j)^{n},$$

a formula due to Euler.

Since

$$x^{n} = \sum_{r=0}^{n} {\binom{x}{r}} \Delta^{r} f(0) = \sum_{r=0}^{n} \Delta^{n-r} {\binom{x}{n}} \Delta^{r} f(0),$$

it follows from (2.10) and (2.15)

$$x^{n} = R_{n}(1+\Delta)\binom{x}{n} = \sum_{s=1}^{n} A_{ns}(1+\Delta)^{s-1}\binom{x}{n} = \sum_{s=1}^{n} A_{ns}\binom{x+s-1}{n},$$

which establishes (1.5). This proof is taken from Frobenius.

3. We now consider the polynomial

(3.1)
$$H_n(u) = H_n(u \mid \lambda) = (u+H)^n$$

defined by (1.6). We evidently have the generating function

(3.2)
$$\frac{1-\lambda}{e^x-\lambda}e^{xu} = \sum_{n=0}^{\infty} \frac{x^n}{n!}H_n(u).$$

It follows from (3.2) that

(3.3)
$$H_n(u+1) - \lambda H_n(u) = (1-\lambda)u^n$$

Moreover (3.3) uniquely determines the polynomial $H_n(u)$. If f(z) is an arbitrary polynomial in z then by (3.3)

$$f(u+1+H) - \lambda f(u+H) = (1-\lambda)f(u),$$

from which it follows that for given f(z) the difference equation

$$(3.4) g(u+1) - \lambda g(u) = (1-\lambda)f(u)$$

has the unique solution

$$g(u) = g(u \mid \lambda) = f(u+H).$$

It follows at once from (3.2) that

(3.5)
$$H'_{n}(u) = nH_{n-1}(u)$$

and generally

$$H_n^{(r)}(u) = \frac{n!}{(n-r)!} H_{n-r}(u) \qquad (n \ge r),$$

which implies

(3.6)
$$H_n(u+v) = \sum_{r=0}^n \binom{n}{r} u^{n-r} H_n(v).$$

If we differentiate (3.2) with respect to λ we get

$$(3.7) H_{n+1}(u \mid \lambda) + \lambda \frac{\partial}{\partial \lambda} H_n(u \mid \lambda) = \left(u - \frac{1}{1-\lambda}\right) H_n(u \mid \lambda),$$

which reduces to (2.12) for u = 0. We also note that (3.2) implies

(3.8)
$$H_n(1-u \mid \lambda^{-1}) = (-1)^n H_n(u, \lambda).$$

We remark that by (2.10) and (3.1) we have

(3.9)
$$H_n(u) = \sum_{r=0}^n (\lambda - 1)^{-r} \sum_{s=0}^r (-1)^{r-s} {r \choose s} (u+s)^n.$$

Again, if we put

(3.10)
$$f_n(u, m) = \sum_{j=0}^{m-1} (u+j)^n \lambda^{m-1-j}$$

then it follows from (3.3) that

(3.11)
$$f_n(u, m) = \frac{H_n(u+m) - \lambda^m H_n(u)}{1 - \lambda}.$$

The polynomial $f_n(0, m)$ is usually called a Mirimonoff polynomial; a more

general polynomial is discussed by Vandiver [14], see also Bachmann [1, p. 117].

To get a multiplication theorem for $H_n(u)$ we consider

$$\begin{split} \sum_{n=0}^{\infty} \frac{x^n}{n!} \sum_{r=0}^{m-1} \lambda^{m-1-r} H_n \left(u + \frac{r}{m} \mid \lambda^m \right) &= \frac{1-\lambda^m}{e^x - \lambda^m} e^{xu} \sum_{r=0}^{m-1} \lambda^{m-1-r} e^{rx/m} \\ &= \frac{1-\lambda^m}{e^{x/m} - \lambda} e^{xu} \\ &= \frac{1-\lambda^m}{1-\lambda} \sum_{n=0}^{\infty} \frac{x^n m^{-n}}{n!} H_n (mu \mid \lambda), \end{split}$$

which yields

(3.12)
$$m^n \sum_{r=0}^{m-1} \lambda^{m-1-r} H_n \left(u + \frac{r}{m} \mid \lambda^m \right) = \frac{1-\lambda^m}{1-\lambda} H_n(mu \mid \lambda).$$

An interesting special case of (3.12) is obtained by taking $\lambda = \zeta$, where $\zeta^{m-1} = 1$, $\zeta \neq 1$. Then (3.12) reduces to

(3.13)
$$m^n \sum_{r=0}^{m-1} \zeta^{-r} H_n \left(u + \frac{r}{m} \mid \zeta \right) = H_n(u \mid \zeta).$$

Nielsen [9, p. 54] has proved that the multiplication theorems for the Bernoulli and Euler polynomials characterize those polynomials. Suppose now that $f(u \mid \lambda)$ is a polynomial in u of degree n that satisfies the equation

(3.14)
$$m^n \sum_{r=0}^{m-1} \lambda^{m-1-r} f\left(u + \frac{r}{m} \mid \lambda^m\right) = \frac{1-\lambda^m}{1-\lambda} f(mu \mid \lambda)$$

for some value of m > 1. Put

$$f(u \mid \lambda) = \sum_{s=0}^{n} A_{s}[\lambda] H_{s}(u \mid \lambda).$$

Then by (3.12) and (3.14)

$$\sum_{s=0}^{n} A_{s}[\lambda^{m}] m^{n-s} H_{s}(mu \mid \lambda) = \sum_{s=0}^{n} A_{s}[\lambda] H_{s}(mu \mid \lambda).$$

This requires that

$$(3.15) m^{n-s}A_s[\lambda^m] = A_s[\lambda] (0 \le s \le n).$$

Now assume that (3.14) holds for two values of m>1, say m_1 and m_2 . Then it is clear that (3.15) becomes

$$A_n[\lambda^m] = A_n[\lambda], \quad A_s[\lambda] = 0 \quad (0 \le s < n).$$

Therefore

$$f(u \mid \lambda) = A_n[\lambda]H_n(u \mid \lambda).$$

For (3.13) the situation is somewhat simpler. If $g(u \mid \zeta)$ is a polynomial in u satisfying the equation

(3.16)
$$m^n \sum_{r=0}^{m-1} \zeta^{-r} g\left(u + \frac{r}{m} \mid \zeta\right) = g(mu \mid \zeta),$$

where $\zeta^{m-1} = 1$, $\zeta \neq 1$, then if we put

$$g(u \mid \zeta) = \sum_{s=0}^{n} A_{s}(\zeta) H_{n}(u \mid \zeta)$$

and assume that (3.16) holds for one value of m > 1, then it follows readily that

$$g(u \mid \zeta) = A_n(\zeta)H_n(u \mid \zeta),$$

where $A_n(\zeta)$ is arbitrary.

It may be of interest to mention also an addition theorem satisfied by $H_n(u \mid \lambda)$. Since

$$\frac{1-\lambda}{e^{x}-\lambda}e^{xu}\frac{1+\lambda}{e^{x}+\lambda}e^{xv}=\frac{1-\lambda^{2}}{e^{2x}-\lambda^{2}}e^{x(u+v)},$$

it follows at once that

(3.17)
$$\sum_{r=0}^{n} {n \choose r} H_r(u \mid \lambda) H_{n-r}(v \mid -\lambda) = H_n(u+v \mid \lambda^2).$$

We note also that from the identity

$$\frac{(1-\lambda)(1+\lambda)}{e^x - \lambda} - \frac{(1-\lambda)(1+\lambda)}{e^x + \lambda} = \frac{2\lambda(1-\lambda^2)}{e^{2x} - \lambda^2}$$

follows

(3.18)
$$(1+\lambda)H_n(u \mid \lambda) - (1-\lambda)H_n(u \mid -\lambda) = 2^{n+1}\lambda H_n\left(\frac{u}{2}, \lambda^2\right),$$

while from

$$\frac{2\lambda - 1}{(e^x - \lambda)(e^x - 1 + \lambda)} = \frac{1}{e^x - \lambda} - \frac{1}{e^x - 1 + \lambda}$$

follows

$$(3.19) (2\lambda - 1) \sum_{r=0}^{n} {n \choose r} H_r(u \mid \lambda) H_{n-r}(v \mid 1 - \lambda) = \lambda H_n(u + v \mid \lambda) - (1 - \lambda) H_n(u + v \mid 1 - \lambda).$$

4. It is familiar that the Bernoulli polynomial $B_n(u)$ may be defined by [10, Chapter 2]

(4.1)
$$\frac{xe^{xu}}{e^{x}-1} = \sum_{n=0}^{\infty} B_n(u) \frac{x^n}{n!}.$$

then

$$\begin{split} \sum_{n=0}^{\infty} \frac{x^n}{n!} \sum_{s=0}^{m-1} \zeta^{-rs} B_n \left(u + \frac{s}{m} \right) &= \frac{x e^{xu}}{e^{x-1}} \sum_{s=0}^{m-1} \zeta^{-rs} e^{sx/m} \\ &= \frac{x e^{xu}}{\zeta^{-r} e^{x/m} - 1} = \frac{\zeta^r x e^{xu}}{e^{x/m} - \zeta^r}, \end{split}$$

where ζ is a primitive m-th root of unity and m + r. This evidently implies

(4.2)
$$m^{n-1} \sum_{s=0}^{m-1} \zeta^{-rs} B_n \left(u + \frac{s}{m} \right) = \frac{n \zeta^r}{1 - \zeta^r} H_{n-1} (mu \mid \zeta^r).$$

For $m \mid r$, on the other hand, we have the multiplication theorem for $B_n(x)$:

(4.3)
$$m^{n-1} \sum_{s=0}^{m-1} B_n \left(u + \frac{s}{m} \right) = B_n(mu)$$

Multiplying both sides of (4.2) by ζ^{rt} , summing over r and using (4.3), we get

(4.4)
$$m^{n}B_{n}\left(u+\frac{t}{m}\right) = B_{n}(mu) + n \sum_{r=1}^{m-1} \zeta^{rt} \frac{H_{n-1}(mu \mid \zeta^{r})}{\zeta^{-r}-1},$$

where $0 \le t < m$.

We recall that the Bernoulli function $B_n(u)$ is defined by

$$\overline{B}_n(u) = B_n(u) \quad (0 \le u < 1), \qquad \overline{B}_n(u+1) = \overline{B}_n(u).$$

Similarly we define

$$(4.5) \qquad \overline{H}_n(u \mid \zeta) = H_n(u \mid \zeta) \quad (0 \le u < 1), \qquad \overline{H}_n(u+1 \mid \zeta) = \zeta \overline{H}_n(u \mid \zeta),$$

where ζ is some root of unity $\neq 1$. With these definitions of $\overline{H}_n(u \mid \zeta)$ and $\overline{B}_n(x)$ it is easily verified that the formulas (3.8), (3.12), (3.13), (4.2), (4.3), (4.4) hold for the barred functions; in particular in (4.4) the restriction $0 \leq t < m$ is no longer necessary.

We remark that for m even and $\zeta^r = -1$, (4.2) reduces to the known formula

$$m^{n} \sum_{s=0}^{m-1} (-1)^{s} B_{n} \left(u + \frac{s}{m} \right) = -\frac{n}{2} E_{n-1}(mu) ,$$

where $E_{n-1}(u)$ is the Euler polynomial of degree n-1.

For $\zeta^r = \omega$, where $\omega^2 + \omega + 1 = 0$, m = 3, u = 0, (4.2) becomes

$$\frac{n\omega}{1-\omega}H_{n-1}[\omega] = 3^n \left\{ B_n + \omega^{-1}B_n(\frac{1}{3}) + \omega B_n(\frac{2}{3}) \right\}.$$

For n even, it is known that [10, p. 22]

$$B_n(\frac{1}{3}) = B_n(\frac{2}{3}) = \frac{1}{2}(3^{1-n}-1)B_n$$

from which it follows that

(4.6)
$$\frac{2n\omega}{1-\omega}H_{n-1}[\omega] = (3^n-1)B_n \qquad (n \text{ even}).$$

On the other hand for n odd > 1 we get

(4.7)
$$nH_{n-1}[\omega] = 3^n \omega B_n(\frac{1}{3})$$

Again for $\zeta^r = i$, m = 4, we get

$$\frac{ni}{1-i}H_{n-1}[i] = 4^{n-1} \left\{ B_n - iB_n(\frac{1}{4}) - B_n(\frac{1}{2}) - iB_n(\frac{3}{4}) \right\}.$$

It follows that

(4.8)
$$n(i-1)H_{n-1}[i] = 2^{n}(2^{n}-1)B_{n}$$
 (n even),

(4.9)
$$n(i+1)H_{n-1}[i] = -2^{2n}B_n(\frac{1}{4}) \qquad (n \text{ odd } > 1).$$

For $\lambda = -1$ we have [10, p. 28]

(4.10)
$$H_{n-1}[-1] = 2^{1-n}C_{n-1} = 2(1-2^n)\frac{B_n}{n}.$$

5. We now obtain some congruences satisfied by H_n . If in (2.8) we take $f(z) = z^n (1-z^w)^r$, we get

$$H^{n}(1-H^{w})^{k} = \sum_{r} (\lambda-1)^{-r} \sum_{s=0}^{n} (-1)^{r-s} \binom{r}{s} s^{n} (1-s^{w})^{k}.$$

Assume that p is a prime such that

$$(5.1) (p-1)p^{e-1} | w;$$

then by Fermat's theorem

$$s^n(1-s^w)^k \equiv 0 \pmod{(p^n, p^{kw})}.$$

We thus obtain (Frobenius)

(5.2)
$$\sum_{s=0}^{k} (-1)^{k-s} \binom{k}{s} H_{n+sw} \equiv 0 \pmod{(p^n, p^{kw})}$$

valid for $k \ge 0$, $n \ge 0$, provided w satisfies (5.1). This result is referred to as Kummer's congruence for H_n . In (5.2) λ may be an indeterminate or an algebraic number such that $(p, 1-\lambda) = (1)$. In particular λ may be an l-th root of unity, where $l \ne p^f$.

By means of (5.2) it is proved in [5] that the coefficient A_{ns} of (1.3) satisfies the congruence

$$(5.3) A_{n+b,s} \equiv A_{n,s} \pmod{p^e},$$

where $p^{j-1} \le s \le p^j$, $n \ge e$, $b = p^{j+s-1}(p-1)$.

Another interesting result, also due to Frobenius, is

(5.4)
$$H_w \equiv \frac{\lambda^{p-1}-1}{\lambda^p-1} \pmod{p^e},$$

where again w satisfies (5.1). Indeed we can prove a slightly more general result by using (3.11) with n = w, u = r, $m \equiv 0 \pmod{p^e}$. We get

$$\begin{split} \frac{1-\lambda^{m}}{1-\lambda}H_{w}(r) &\equiv \sum_{\substack{j=0\\p+(r+j)}}^{m-1} \lambda^{m-1-j} \equiv \sum_{j=0}^{m-1} \lambda^{m-1-j} - \sum_{i=0}^{\frac{m}{p}-1} \lambda^{m-i-r} 0^{-ip} \\ &\equiv \frac{\lambda^{m}-1}{\lambda-1} - \lambda^{p-i-r} 0 \frac{\lambda^{m}-1}{\lambda^{p}-1} \pmod{p^{e}}, \end{split}$$

where the integer r_0 is defined by

(5.5)
$$r \equiv -r_0 \pmod{p} \quad (0 \le r_0 < p).$$

We have finally

(5.6)
$$H_w(r) \equiv 1 - \lambda^{p-1-r_0} \frac{\lambda - 1}{\lambda^{p} - 1} \pmod{p^e},$$

which reduces to (5.4) for r = 0.

The interesting congruence

(5.7)
$$R_{p-2}[1-\lambda] \equiv R_{p-2}[\lambda] \pmod{p}$$

is due to Mirimanoff [8]. It can be proved rapidly as follows. From (3.11) we get

$$(1-\lambda)R_{p-2}[\lambda] \equiv \sum_{j=0}^{p-2} (j+1)^{-1}\lambda^{j},$$

so that

(5.8)
$$\frac{d}{d\lambda} \{\lambda (1-\lambda) R_{p-2}[\lambda]\} = \frac{\lambda - \lambda^p}{(1-\lambda)}.$$

Replacing λ by $1-\lambda$, we get also

$$\frac{d}{d\lambda}(\lambda(1-\lambda)R_{p-2}[1-\lambda]) = \frac{\lambda-\lambda^p}{(1-\lambda)}.$$

Consequently

$$\lambda(1-\lambda)R_{p-2}[1-\lambda] \equiv \lambda(1-\lambda)R_{p-2}[\lambda] + C,$$

where C is independent of λ . Clearly $C \equiv 0$ and (5.7) follows at once. Again by (3.11)

$$(1-\lambda)^2 R_{p-3}[\lambda] \equiv \sum_{j=0}^{p-2} (j+1)^{-2} \lambda^j,$$

so that

(5.9)
$$\frac{d}{d\lambda} \{\lambda (1-\lambda)^2 R_{p-3}[\lambda]\} = (1-\lambda) R_{p-2}[\lambda].$$

Then by (5.7)

$$(\lambda^p - \lambda) R_{p-2}[\lambda] \equiv \lambda^p (1 - \lambda) R_{p-2}[\lambda] - \lambda (1 - \lambda)^p R_{p-2}[1 - \lambda];$$

now using (5.8) and (5.9), we get

$$-\frac{1}{2}\lambda^{2}(1-\lambda)^{2}R_{p-2}^{2}[\lambda] \equiv \lambda^{p+1}(1-\lambda)^{2}R_{p-3}[\lambda] + \lambda^{2}(1-\lambda)^{p+1}R_{p-3}[1-\lambda] \ ,$$

so that

$$(5.10) \quad -\frac{1}{2}R_{p-2}^{2}[\lambda] \equiv \lambda^{p-1}R_{p-3}[\lambda] + (1-\lambda)^{p-1}R_{p-3}[1-\lambda] \pmod{p},$$

where of course p > 2. This result also is due to Mirimanoff. We note that from (2.1) and

$$\binom{p-1}{r} \equiv (-1)^r \pmod{p}$$

it follows that

(5.11)
$$\sum_{r=0}^{p-1} (-1)^r H_r \equiv \lambda H_{p-1} \pmod{p},$$

(5.12)
$$p \sum_{r=1}^{p-1} \frac{(-1)^{r-1}}{r} H_r \equiv (\lambda - 1) H_p - 1 \pmod{p^2}.$$

Finally from (3.11) follows

(5.13)
$$\sum_{r=1}^{p-1} \left(\frac{r}{p}\right) \lambda^{r-1} \equiv (1-\lambda)^k R_k \pmod{p},$$

where p = 2k+1 and (r/p) is the Legendre symbol.

REFERENCES

- 1. T. M. Apostol, On the Lerch zeta function, Pacific Journal of Mathematics vol. 1(1951), pp. 161-167.
- 2. T. M. Apostol, Addendum to 'On the Lerch zeta function,' Pacific Journal of Mathematics, vol. 2(1952), p. 10.
- 3. P. Bachmann, Das Fermat problem in seiner bisherigen Entwicklung, Berlin and Leipzig, 1919.
- 4. L. Carlitz, q-Bernoulli and Eulerian numbers, Transactions of the American Mathematical Society, vol. 76 (1954), pp. 332-350.
- 5. L. Carlitz and J. Riordan, Congruences for Eulerian numbers, Duke Mathematical Journal, vol. 20(1953), pp. 339-343.
- 6. L. Euler, Institutiones calculi differentialis, Petrograd, 1755.
- G. Frobenius, Uber die Bernoullischen und die Eulerschen Polynome, Sitzungsberichte der Preussische Akademie der Wissenschaften (1910), pp. 809-847.
- 8. D. Mirimanoff, L'équation indéterminée $x^l + y^l + z^l = 0$ et le criterium de Kummer, Journal fur die reine und angewandte Mathematik, vol. 128 (1905), pp. 45-68.
- 9. N. Nielsen, Traité élémentaire des nombres de Bernoulli, Paris, 1923.
- 10. N. E. Norlund, Vorlesungen über Differenzenrechnung, Berlin, 1924.
- 11. J. Riordan, An Introduction to Combinational Analysis, New York, 1958.
- 12. J. Riordan, Triangular permutation numbers, Proceedings of the American Mathematical Society, vol. 2(1951), pp. 429-432.
- 13. E.B. Shanks, Iterated sums of powers of binomial coefficients, American Mathematical Monthly, vol. 58 (1951), pp. 404-407.
- 14. H. S. Vandiver, An arithmetical theory of the Bernoulli numbers, Transactions of the American Mathematical Society, vol. 51(1942), pp. 502-531.
- 15. J. Worpitzky, Studien über die Bernoullischen und Eulerschen Zahlen, Journal für die reine und angewandte Mathematik, vol. 94 (1883), pp. 203-232.

Duke University Durham, N. C.